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SA - A S90(30) - HRAY - BAS A
HEAMHIA B 18,000 20,100 22,100
201 er23 | 18,000 20,100 22,100
01 At2teltl 18,000 20,100 2,100
Oget=ZHI 18,000
oMAHBAAE MS
18,000,000 * 14 18,000
SENERAUYIREY 29 1,200 1,200 0
202 04| 1,200 1,200
01 =LHOLI 1,200 1,200
Oaxssd 20,0003 x3& »202] 1,200
HH2I A (Z A=) 25,220 24,400 820
&l 25,220 24,400 820
=3l 25,220 24,400 820
201 et 3| 16,620 15,800 820
01 Al22:21H 16,500 15,800 700
SHEER=1] 10,200
SBE AR
300,000& * 122 3,600
oAl £ 150,000& * 12 1,800
oJIEt =& 300,000 * 12 3,600
oARZEA
100,000« 12& 1,200
O=4itl 6,300
SSIET-EH
9,000 %14 »50! 6,300
02 S3=gHl 120 0 120
O3 AHZAHS
120,000 *14] 120
202 04| 5,600 5,600
01 SLHoIH 5,600 5,600
O=LH04HI 80,0002 *14E+52] 5,600
203 HR=AH] 3,000 3,000
MU FAZHER= 3,000 3,000
oMY
250,000 x 122 3,000




